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SRy FLOEFHE > x[5]
SRy MLDFE [1] 5
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751 [1] 2 3 8
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> x[-c(3:5)]
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SRy MLOERZHE
+% >y
(1187654321
S RY FLOEE > Xty
»RY FLOBRERE [1] 9 9 9 9 9 9 9 9
1751 > X—y
F (1] -7 -5 -3 -1 1 3 5 7
> X*y
i 5l
[1] 8 14 18 20 20 18 14 8
IESS
> x/y
/o [1] 0.1250000 0.2857143 0.5000000 0.8000000
55 I DR [5] 1.2500000 2.0000000 3.5000000 8.0000000
R #2AICIE
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> c(1:10)%%3
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) > x<—-1:15
AR > x<-matrix(x,5,3)
1751 > x
1751
rl 12 /3
R TP
* AHDEREHET 2 [1,]
* THIOERIZRAT S [2,] 2 7 12
+ ZEOTFIE R LIE [3,] 3 8 13
?;f;:mm (4, ] 4 9 14
1T [=i=]
& RIS (5] > 1015
S {ABlERNS—DEE > x[3,]
S BEOTHHE [1] 3 8 13
zg;a,it@m:a > x[,2]
> GEPRE - 751 (1] 6 7 8 910
= g > x[2:3,]
- _
[,11 [,2] [,3]

s (1, ] 2 7 12
YRk [2,] 3 8 13
/0 > x[,2:3]
557 0kR [,1] [,2]
R ##AIC(E [1,] 6 Hl

[2,] 7 12

[3,] 8 13

[4,] 9 14
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TIDERZHRET S

> x[c(F,T,F,T,F),]
[,11 [,2] [,3]
[1, ] 2 7 12
[2, ] 4 9 14
> x[,1]1>3
[1] FALSE FALSE FALSE
> x[x[,11>3,]
[,11 [,2] [,3]
(1, ] 4 9 14
[2, ] 5 10 15
> x[,1]==2|x[,1]==4
[1] FALSE TRUE FALSE
> x[x[,1]==2|x[,1]1==4,]
[,11 [,2] [,3]
(1, ] 2 7 12
(2, ] 4 9 14
> x[x[,1]>2&x[,1]<=4,]
[,11 [,2] [,3]
[1,] 3 8 13
[2, ] 4 9 14

TRUE TRUE

TRUE FALSE
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> X
1751 [,11 0,21 [,3] [,4]

X4

4751 :
RO ERERMT S
RO ERERMT S [
¢ FHIDERICRAT S [
+ B D751 % fER L 1B >
ERA

>
TR S
I E
S 75l & AN S—DFE (1,1 NA NA NA NA
& BEOTHIFHE [2,] 1 2 3 4

*ATTE, FFITE [3, ] NA NA NA NA
DEtE
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THDHEE

> x<-matrix(l:6,2,3)

> y<-matrix(11:13,1,3)

> X

[,11 [,2] [,3]
[1,] 1 3 5
[2,] 2 4 6
>y

[,11 [,2] [,3]
[1, ] 11 12 13
> rbind(x,V)

[,11 [,2] [,3]
[1,] 1 3 5
[2,] 2 4 6
[3, ] 11 12 13
> y<-matrix(11:14,2,2)
>y

[,1] [,2]
[1, ] 11 13
[2,] 12 14
> cbind(x,V)

[,11 [,2] [,3]
[1,] 1 3 5
[2, ] 2 4 6

[, 4]
11
12

[, 3]
13
14
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AR E

> x<-matrix(c (1l

:6),2,3)

> y<-matrix(c(6:1),2,3)

> X

[,1] [,2]
(1,1 1 3
(2,] 2 4
>y

[,1] [,2]
(1, ] 6 4
(2, ] 5 3
> x+ty

[,1] [,2]
(1,] 7 7
(2, ] 7 7
> xX-y

[,1] [,2]
(1,17 -5 -1
(2,] -3 1
> X*Y

[,1] [,2]
(1, ] 6 12

[2,] 10 12

[,1]
[1,] 0.1666667
[2,] 0.4000000

[,2]
0.750000
1.333333

[

2.
6.

3]

5
0
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BEBEDITHER

s« $IFITHFE, t () [XERETTHI,

> x$*xSt (y)
[,1] [,2]
[1,] 28 19
(2, ] 40 28
> diag(c(1,1,1))
[,2] [,3
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T—R I L—LDERK

HRIRS £ A THIPUTNENE &DEES,
g kL
751
2 > x<-1:3
oo
& 1751 & RO )
®F—B I L—LDOTH > data.frame(x,v, z)
BEMES Xy z
S TF—R I L—LDEE 1 1 5 38
SHEDEHM/NEVIE
SHAE B 224 9
S TORBINEIC U A% 3 3 3 10
25
T A A > data.frame (aaa=x, bbb=y, ccc=z)
T3 aaa bbb ccc
i 2 2 4 9
o 3 3 3 10
> data.frame (aaa=x, bbb=y, ccc=z, row.names=c ("yamada", "ogawa", "yamam
75 7 DR aaa bbb ccc
R #2RIZlE yamada 1 5 8
ogawa 2 4 9

yamamot o 3 3 10
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mAEE KA
‘ > a<-data.frame (aaa=x, bbb=y, ccc=z, row.names=c ("yamada", "ogawa", "va
Ry b > a
1751 aaa bbb ccc
F—8ITL—L yamada 1 5 8
S T—2 T L—LDER ogawa 2 4 9
17

S T—2 T L—LDOEEF

S RHEDEHLN /DS WIE
[CHREZ D

1751 & RO

yamamoto 3 3 10
> al2,]

aaa bbb ccc
ogawa 2 4 9

& 1102 BRI T~ 2 > al,2]

z5% [1] 5 4 3

;gﬁﬁwﬁéﬁimm > a+2

- aaa bbb ccc
yamada 3 7 10

JAR ogawa z 6 11

/o yamamot o 5 5 12

55 I DR > t(a)

R %254 yamada ogawa yamamoto
aaa 1 2 3
bbb 5 4 3
ccc 8 9 10
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0
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SITOARBEICHARE
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& RIBIED & 51T ZHIFR

5

[

Iy Rk

/0
75 I DR
R ##AICIE

T—3 I L—LOEHLEED

> a

yamada
ogawa
yamamoto
> aSaaa>1
[1] FALSE
> ala$Saaa

ogawa
yamamoto

> af[c("yamamoto",

yamamoto
yamada

aaa bbb ccc

1 5 8
2 4 9
3 3 10
TRUE TRUE

>1, ]

aaa bbb ccc
2 4 9
3 3 10

aaa bbb ccc
3 3 10
1 5 8

"yamadam)

, ]
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AB
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5
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55 7 DER

R ZZAIC(E

F—2 I L—LDE

attach, detach FA#MEZ B,

> aaa
IS5—: #ATPxH bk "aaa" FHFEELFEEA
> attach (a)
> aaa
(11 1 2 3

> alaaa>1, ]

aaa bbb ccc
ogawa 2 4 9
yamamot o 3 3 10
> detach (a)
> aaa

IS5—: ATPxH bk "aaa" FHFEELFEA
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HEDEHN/PSWVIRICHEREZ S

HAER & KA

> x<-data.frame (aaa=c (10, 3,8),bbb=c(20,50,10), row.names=c ("yama","

Y kL S %
1751 aaa bbb
F—8IL—L yama 10 20
S T—2 T L—LDERK kawa 3 50
o T— — @
2EHES > x[c(2,3,1),]
S T—H T L—LDEE aaa bbb
SHREDOEHMA/NES VB
M kawa 3 50
+ T & BRI 3 umi 8§ 10
z% yama 10 20
& RiB(E 1TEHIR
T%#ﬁﬁ.@ﬁ)éﬁiﬁﬂﬂ% > order (x$aaa)
[1] 2 3 1
B2 5l
> x[order (x$Saaa), ]
JESE aaa bbb
) kawa 3 50
55 I DERK umi 8 10
R £25IZ1F yama 10 20
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HAER & KA

S T—2 T L—LDOEEF

S RHEDEHLN /DS WIE
[CHREZ D

S {TOBATNRICIE~RE
AB

& RIBIED & 51T ZHIFR
EXS)

[

JX ~

I/O

55 7 DER

R ZZAIC(E

TORREICHENEZ S

TRIEICHEREZ B

> row.names (X)

[1]

> order (row.names (

[1]

> xX[order (row.names (x

kawa
umi
yama

"yama "

2 31

"kawa"

aaa bbb

3
8
10

50
10
20

" umi "

X))

)) ]
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1751

T—2 I L—LA

S T—H T L—LDOERK
< 175 & BHR O H

S T—2ITL—LDEH
ZEHES

S T—RITL—LDEE
SETEDOEHI/NEVIE
[CHiREZ B
SITOARBEICHARE
)

& RIBED H 517 ZHIR

EX

[

JX ~

I/O

55 7 DER

R ZZAIC(E

REBEDHHITZEHIRT S

> x<—-data.frame (
> x[3,2]<-9999
> X

X1 X2 X3 X4
1 1 4 7 10
2 2 5 8 11
3 3 9999 9 12
> x>1000

X1 X2

] FALSE FALSE
] FALSE FALSE
] FALSE TRUE
[x>1000] <-NA

X1 X2 X3 X4 X5
1 4 7 10 13
2 5 8 11 14
3 NA 9 12 15

na.omit (x)

X1 X2 X3 X4 X5
1 4 7 10 13

2 2 5 8 11 14

vV w N B

[

matrix(1:15,3,5))

X5
13
14
15

X3 X4 X5
FALSE FALSE FALSE
FALSE FALSE FALSE
FALSE FALSE FALSE
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1751

T—2 I L—LA

BL 5|

> BL5I

Xk

I/O

BL Al

55 7 DER

R #=AUZ(X
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BL Al

PR & KA SREULEDT—E2HKZ 5,

|’

1751

> x<-array(l1:8,c(2,2,2))
T—H2IL—LA

> X
25 , ., 1
YAk [,1] [,2]
/0 [1, ] 1 3
75 IDERK [2,] 2 4
R #=AUZ(X
14 4 2
[,1] [,2]
[1,] 5 7
[2,] 6 8
> apply (x, 3, sum)
[1] 10 26
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1751

T—2 I L—LA

BL 5l

o I)Z I\

I/O

')A b

55 7 DER
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PRI & A HATENMUTELDDIFTHRYIADH S

|’

1751

> list (aaa=1:4,bbb=3:5, ccc=data.frame (a=1:2,b=8:9),ddd="HATY

T—3IL—LA H~n )
Rk Saaa
Rk [1] 1 2 3 4
e} Sbbb
95 IR [11 3 45
R #FAIC(E Scec
a b

1 1 8

2 2 9

sddd

[1] "IFATIh~"

> x$ddd
[1] "HATE A~
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|’

1751

T—2 I L—LA

BL 5l

YR b

ST EIDBEAAD
I/0

55 7 DER

R #=AUZ(X
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HAER & KA

|’

1751

T—2 I L—LA

BL 5l

YR b

I/0
S THRILHSHEHAD

55 7 DER

R #ZEAIZ(X

AL

it

IHOEILMhBE

@ IV ITT—RZEHTS

A B E F
1 age income expend SEX size
2 |vamada 30 100 80 M L
3 |tanaka 15 30 25 F 3
4 |yarmamoto 18 400 260 F I
5 |suzuki 40 180 130 b 5
&

M4 W] sampl Sheet? Sheetd 0 AN

° Cl)SV T74ILELTRET S

TPV [samp] v]
TP MIERD [csy () v]
EEa)

e R ISHA#RAT

> x<-read.csv("c:/home/doc/samp0l.csv", row.names=1)

> X

age income expend sex size
yamada 30 100 80 M L
tanaka 15 30 25 F S
yamamoto 18 400 260 F M
suzuki 40 190 130 M S
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|’

1751

T—2 I L—LA

BL 5l

YR b

I/O

g » — s
GEm— 557 DR
%plot : 1 ZE#,type

SERRTS LA

Splot: 2 EH

Splot: 3 EHLL

< matplot

< B RRE

< RERE

R #%AIZ(X
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plot : 1% %1

mAEE KA
Yy kL
> plot (x)
1751
T—3IL—LA
(il o o
)Rk
l/O
55 7 DR ]
“plot : 1 Z# type x
SERNTSLA < o o
“plot: 2 Z£#
“plot: 3 ZHLE R o
< matplot o .
< M RE
‘:’ﬁ%‘ﬁ:ﬁﬁ — o
R ZZE A& 1 2 3 4 5 6 7 8

Index
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plot : 1Z %, type

mAEE KA
> plot (x,type="1")
.
1751
T—H2IL—LA
R
IESS T
o) ]
55 DR o
Splot: 1 £ x

Splot : 1 E# type ¥

SERNTS L
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plot : 3Z LI E

mAEE &K A
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> a<-data.frame(x,v, z)
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matplot

HAER & KA

> matplot (a,type="o")
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